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PROBABILITY

1. A coin is tossed 6 timesWhat is the

probability of getting exactly 4 heads.

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_TxBwOmM0uiTa

2. Find the probability of obtaining an even
prime number as the sum when a pair of dice

are rolled.

o Watch Video Solution

3. In an examination.30% of students failed in
Maths,20% of students failed in Chemistry and
10% of students failed in both Maths &

ChemistryA  student is selected at


https://dl.doubtnut.com/l/_TxBwOmM0uiTa
https://dl.doubtnut.com/l/_nngTV1tvs673
https://dl.doubtnut.com/l/_VDgdeCkTzJAt

random.Find the probability that (i) The

student has failed in Maths.

° Watch Video Solution

4. In an examination.30% of students failed in
Maths,20% of students failed in Chemistry and
10% of students failed in both Maths &
ChemistryA  student is selected at
random.Find the probability that (ii)) The

student has failed in Chemistry

° Watch Video Solution



https://dl.doubtnut.com/l/_VDgdeCkTzJAt
https://dl.doubtnut.com/l/_dxrseVdEWTBV

5. In an examination.30% of students failed in
Maths,20% of students failed in Chemistry and
10% of students failed in both Maths &
ChemistryA  student is selected at
random.Find the probability that the student
has failed in Maths,it is known that he has

failed in Chemistry.

o Watch Video Solution



https://dl.doubtnut.com/l/_dxrseVdEWTBV
https://dl.doubtnut.com/l/_LmCU77E1QpVv

6. A die is thrown and six possible out comes
are equally liked.E is the eventithe number
appearing is a an multiple of 3,and F is the
event, The number appearing is even',Calculate

P(E) and P(F)

o Watch Video Solution

7. A die is thrown and six possible outcomes
are equally liked.E is the eventithe number

appearing is a an multiple of 3,and F is the


https://dl.doubtnut.com/l/_5gYW50tEvj4P
https://dl.doubtnut.com/l/_Rk8Tn5tzIszD

event, The number appearing is even',Calculate

P(ENF)

° Watch Video Solution

8. A die thrown.If E is the event 'the number
appearing is a multiple of 3' and F be the
event 'the number appearing is even' then find

whether E and F are independent ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Rk8Tn5tzIszD
https://dl.doubtnut.com/l/_k8hd6sVoIiEB

9. Find the probability distribution of the
number of sucesses in two tosses of a die
where success is defined as

number greater than 4

° Watch Video Solution

10. Find the bionomial distribution whose

mean is 10 and standard deviation 2+/2

o Watch Video Solution



https://dl.doubtnut.com/l/_iai9FcVt3E1m
https://dl.doubtnut.com/l/_2cCnsWN08ZVi
https://dl.doubtnut.com/l/_67qDJbTPy9Aj

11. A bag 'X'contains 2 white and 3 red balls
and a bag Y contains 4 white and 5 red
balls.One ball is drawn at random from one of
the bags and is found to be red.Find the

probability that it was drawn from bag Y.

o Watch Video Solution

12. 5 boys and 5 girls are siting in a row

randomly . The probability that boys and girls

. . : 5) 1 4
sit alternatively is : a) 196 b) 196 C) 196 d)
§

126



https://dl.doubtnut.com/l/_67qDJbTPy9Aj
https://dl.doubtnut.com/l/_8BHOAeRacgM7

° Watch Video Solution

3
13. If P(A) = —,P(B)=4/5 and
4
31
P(AUB) = 20 the events A and B are

A. a.Dependents only on A

B. b.Mutually exclusive

C. cIndependent

D. d.Dependent only on A

Answer:



https://dl.doubtnut.com/l/_8BHOAeRacgM7
https://dl.doubtnut.com/l/_g8nfpJpmZkLO

14. What is the probability that the position in
which the consonants remains unchanged

when the letters of "MATH"are re-arranged?

o Watch Video Solution

15. A shooter can hit a target once in a 4
shots.If he fires 4 shots in succession,what is

the probability that he will hit his target.

o Watch Video Solution



https://dl.doubtnut.com/l/_g8nfpJpmZkLO
https://dl.doubtnut.com/l/_2oElmXxd44Js
https://dl.doubtnut.com/l/_Qu1xx4zuwyWP

16. Two balls are drawn at random with
replacement from a box containing 10 black
and 8 red balls. Find the probability that one

of them is black and the other is red.

o Watch Video Solution

17. Out of 9 outstanding students of a
school,there are 4 boys and 5 girls.A team of 4

students is to be selected for a quiz


https://dl.doubtnut.com/l/_Qu1xx4zuwyWP
https://dl.doubtnut.com/l/_ECr4besdMe5Y
https://dl.doubtnut.com/l/_4Px6sU9bhWPA

competition.Find the probability that 2 boys

and 2 girls are selected.

° Watch Video Solution

18. In a binominal distribution mean is 6 and
standard deviation is v/2.What is the number

of trials.

° Watch Video Solution



https://dl.doubtnut.com/l/_4Px6sU9bhWPA
https://dl.doubtnut.com/l/_IVZraP7sro9q

19. A company has two plants to manufacture
scooters.Plant | manufactures 70% of the
scooters and Plant II manufactures 30%.At
Plant 1,30% of the scooters are of standard
quality and at Plant 11,90% of the scooters are
rated as of standard qualityA scooter is
chosen at random and is found to be of
standard quality.What is the probability that it

has come from Plant II?

o Watch Video Solution



https://dl.doubtnut.com/l/_ifOEL6hY14jM
https://dl.doubtnut.com/l/_ttdedtzHVQh8

20. Let E and F be events such that
1 1 1
P(E) = —, P(F) = —, P(Eﬂ F) = —.Find
3 4 5%
P(E | F)

o Watch Video Solution

21. Let E and F be events such that
1 1 1
P(E) = —,P(F) = —,P(EHF) — —Find
3 4 5%
P(F | E)

o Watch Video Solution



https://dl.doubtnut.com/l/_ttdedtzHVQh8
https://dl.doubtnut.com/l/_whIAdfKa5DXS

22. Let E and F be events such that

P(E) = %,P(F) - %,P(EHF) - %Find
P(EUF)

o Watch Video Solution

23. Let E and F be events such that

1 1 1
P(E) = 5, P(F) = £, P(ENF) = —Find

o Watch Video Solution



https://dl.doubtnut.com/l/_DoXMQ3i41YP3
https://dl.doubtnut.com/l/_F4kPLiNIrySH
https://dl.doubtnut.com/l/_zu6Tzb8MpxQe

24. A bag contains 4 white and 2 black
balls.Another bag contains 3 white and 5 black
balls.If one ball is drawn from each bag.Find

the probability that both are white

o Watch Video Solution

25. A bag contains 4 white and 2 black
balls.Another bag contains 3 white and 5 black
balls.If one ball is drawn from each bag.Find

the probability that both are black

o Watch Video Solution



https://dl.doubtnut.com/l/_zu6Tzb8MpxQe
https://dl.doubtnut.com/l/_S3OTRIkE4P3N

26. A bag contains 4 white and 2 black
balls.Another bag contains 3 white and 5 black
balls.If one ball is drawn from each bag.Find
the probability that One is white and one is

black.

o Watch Video Solution

27. It is known that 10 % of certain articles

manufactured are defective . What is the


https://dl.doubtnut.com/l/_S3OTRIkE4P3N
https://dl.doubtnut.com/l/_J7DCxvYBYfS6
https://dl.doubtnut.com/l/_xQf0uE0SQycz

probability that in a random sample of 12 such

articles 9 are defective?

° Watch Video Solution

28. A can hit target 4 times out of 5 times,B
can hit target 3 times out of 4 times and C can
hit target 2 times out of 3 times. They fire
simultaneously.Find the Probability Any two

out of AB and C will hit the target.

° Watch Video Solution



https://dl.doubtnut.com/l/_xQf0uE0SQycz
https://dl.doubtnut.com/l/_vkKk7T9qanJX
https://dl.doubtnut.com/l/_NDDx08P3uPkG

29. A can hit target 4 times out of 5 times,B
can hit target 3 times out of 4 times and C can
hit target 2 times out of 3 times. They fire
simultaneously.Find the Probability that None

of them will hit the target.

° Watch Video Solution

30. A coin is tossed 5 times.What is the

probability of getting 3 heads?

° Watch Video Solution



https://dl.doubtnut.com/l/_NDDx08P3uPkG
https://dl.doubtnut.com/l/_nWmDiCMxm63D

31. A coin is tossed 5 times What is the

probability of getting at least 3 heads?

° Watch Video Solution

32. Assume that each born child is equally
likely to be a boy or a girl. If a family has two
children,what is the conditional probability
that both are girls given that

the youngest is a girl

° Watch Video Solution



https://dl.doubtnut.com/l/_PXgeTVRbCZ5x
https://dl.doubtnut.com/l/_NlupTicpJCWR

33. A coin is tossed so that the head is 3 times
as likely to occur as tail. If the coin is tossed
twice, Find the probability distribution of

number of tails.

o Watch Video Solution

34. Assume that each born child is equally
likely to be a boy or a girl. If a family has two

children,what is the conditional probability


https://dl.doubtnut.com/l/_NlupTicpJCWR
https://dl.doubtnut.com/l/_kKXugA2jwygd
https://dl.doubtnut.com/l/_cTexv6PNl4Ah

that both are girls given that

atleast one is a girl

° Watch Video Solution

35. A and B independently try to solve a
problem.Probability that A slove the problem
is 1/3 and that B solves the problem is 1/4.Find
the probability that both of them solves the

problem.

° Watch Video Solution



https://dl.doubtnut.com/l/_cTexv6PNl4Ah
https://dl.doubtnut.com/l/_5ZtOuzed0SGD
https://dl.doubtnut.com/l/_r9e3piwYCaaC

36. A and B independently try to solve a
problem.Probability that A slove the problem
is 1/3 and that B solves the problem is 1/4.Find

the probability that the problem is solved

o Watch Video Solution

37. Find the probability distribution of the

number of heads in three tosses of a fair coin.

° Watch Video Solution



https://dl.doubtnut.com/l/_r9e3piwYCaaC
https://dl.doubtnut.com/l/_RS6vD4GvlJQ2
https://dl.doubtnut.com/l/_smwDh3uOdTCh

38. What is meant by mutually exclusive

events?

o Watch Video Solution

39. Find the probability of drawing a one-
rupee coin from a purse with two
compartments, one of which contains 3 fifty-
paise and 2 one-rupee coins,and the other 2

fifty paise and 3 one-rupee coins.

o Watch Video Solution



https://dl.doubtnut.com/l/_smwDh3uOdTCh
https://dl.doubtnut.com/l/_crnYRZS0YJaq
https://dl.doubtnut.com/l/_kxunbGLAKl5m

40. In four throws with a pair of dice,what is

the probability of throwing doublets twice

° Watch Video Solution

41. In four throws with a pair of dice,what is
the probability of throwing doublets at least

twice.

° Watch Video Solution



https://dl.doubtnut.com/l/_kxunbGLAKl5m
https://dl.doubtnut.com/l/_lbwX7ozKPGCt

42. Suppose that 5 men out of 100 and 25
women out of thousand are colour blind.A
colour blind person is chosen at random.What
is the probability of this being male (assuming
that males and females are in equal

proportion).

o Watch Video Solution

43. A can hit a target 4 times in 5 shots.B three

times in 4 shots,C two times in three


https://dl.doubtnut.com/l/_WeMrekOHYVHO
https://dl.doubtnut.com/l/_6Be6b2rikj7v

shots.Calculate the probability that AB,C all

may hit.

° Watch Video Solution

44, A can hit a target 4 times in 5 shots.B
three times in 4 shots,C two times in three
shots.Calculate the probability that B,C may

hit and A may lose.

o Watch Video Solution



https://dl.doubtnut.com/l/_6Be6b2rikj7v
https://dl.doubtnut.com/l/_tONykzHMHH7o

45. A can hit a target 4 times in 5 shots.B three
times in 4 shots,C two times in three
shots.Calculate the probability that any two

will hit the target.

o Watch Video Solution

46. A can hit target 4 times out of 5 times,B
can hit target 3 times out of 4 times and C can

hit target 2 times out of 3 times. They fire


https://dl.doubtnut.com/l/_UDczmKmFKYW2
https://dl.doubtnut.com/l/_e0jMfpEAJabR

simultaneously.Find the Probability that None

of them will hit the target.

o Watch Video Solution

47. An urn contains 5 white and 8 black
balls.Two successive draws

of three balls at a time are made such that the
balls are not

replaced brfore the second trial.Find the
probability in ecah

case that the first drawing will give 3 white


https://dl.doubtnut.com/l/_e0jMfpEAJabR
https://dl.doubtnut.com/l/_HnkNjwoviNIE

and the

second 3 black balls.

o Watch Video Solution

48. An urn contains 5 white and 8 black
balls.Two successive draws

of three balls at a time are made such that the
balls are not

replaced brfore the second trial.Find the
probability in ecah

case that the first drawing will give 3 white


https://dl.doubtnut.com/l/_HnkNjwoviNIE
https://dl.doubtnut.com/l/_V1Q4ZgKELaqt

and the

second 3 black balls.

° Watch Video Solution

49. Two persons A and B throw a die
alternatively till one of them gets a three and
wins the gamelf A beginsfind (i) the

probability of winning of A.

o Watch Video Solution



https://dl.doubtnut.com/l/_V1Q4ZgKELaqt
https://dl.doubtnut.com/l/_yf8A8jx4Z4QO

50. Two persons A and B throw a die
alternatively till one of them gets a three and
wins the gamelf A beginsfind (ii) the

probability of winning of B.

o Watch Video Solution

51. A doctor claims that 60% of the patients he
examines are allergic to some type of

weed.what is the probability that (i) Exactly


https://dl.doubtnut.com/l/_LnZnwfaedgpq
https://dl.doubtnut.com/l/_oxA38pPTi4Ml

three of his next four patients are allergic to

weeds.

° Watch Video Solution

52. A doctor claims that 60% of the patients
he examines are allergic to some type of
weed.what is the probability that (ii)None of

his next four patients is allergic to weeds.

o Watch Video Solution



https://dl.doubtnut.com/l/_oxA38pPTi4Ml
https://dl.doubtnut.com/l/_tOJNucEWlVYz

53. Probability that a problem will be solved by
three students are 1/4,1/2,3/4 respectively.what

is the probability that all solves the problem.

o Watch Video Solution

54. Probability that a problem will be solved by
three students are 1/4,1/2,3/4 respectively.what
is the probability that none solves the

problem

o Watch Video Solution



https://dl.doubtnut.com/l/_M1eRUaqAIVnV
https://dl.doubtnut.com/l/_BF8olpB0539g

55. Probability that a problem will be solved by
three students are 1/4,1/2,3/4 respectivelywhat
is the probability that the problem will be

solved

o Watch Video Solution

56. Probability that a problem will be solved by
three students are 1/4,1/2,3/4 respectively.what
is the probability that (iv).Exactly one solves

the problem


https://dl.doubtnut.com/l/_BF8olpB0539g
https://dl.doubtnut.com/l/_dclbwvoNvdRI
https://dl.doubtnut.com/l/_SfiDDO12eMOH

° Watch Video Solution

57. A coin is tossed three times,where the
events A:occurring at most two
heads,B:occuring at most one tail (i)Write

P(A),P(B)

o Watch Video Solution

58. A coin is tossed three times,where the

events A:occurring at most two


https://dl.doubtnut.com/l/_SfiDDO12eMOH
https://dl.doubtnut.com/l/_yG3BDrLX2AuC
https://dl.doubtnut.com/l/_vNfvPXbtmuDo

heads,B:occuring at most one tail (ii)Find

P(A | B)and P(B | A)

° Watch Video Solution

59. In a hostel 50% of the girls like tea, 40%
like coffee and 20% like both tea and coffee

A girl is selected at random.

Find the probability that she likes neither tea

or coffee.

° Watch Video Solution



https://dl.doubtnut.com/l/_vNfvPXbtmuDo
https://dl.doubtnut.com/l/_IGev5eV8uavk
https://dl.doubtnut.com/l/_aOhNThsCfZRy

60. In a hostel 50% of the girls like tea, 40%
like coffee and 20% like both tea and coffee.A
girl is selected at random.f the girl likes
tea,then find the probability that she likes

coffee.

o Watch Video Solution

61. In a hostel 50% of the girls like tea, 40%
like coffee and 20% like both tea and coffee .A
girl is selected at random.If she likes coffee

then find the probability she likes tea.


https://dl.doubtnut.com/l/_aOhNThsCfZRy
https://dl.doubtnut.com/l/_ulJCli1tNrL8

° Watch Video Solution

62. Vineetha and Reshma are competing for
the post of school leader. The probability
Vineetha to be elected is 0.6 and that of
Reshma is 0.4 Futher if Vineetha is elected the
probability of introducing a new pattern of
election is 0.7 and the corresponding
probability is 0.3, if reshma is elected. Find the
probability that the new pattern of election is

introduced by Reshma ?

I ° Watch Video Solution


https://dl.doubtnut.com/l/_ulJCli1tNrL8
https://dl.doubtnut.com/l/_QpkrusZ7Jjuu

63. Find the probability distribution of the
number of success in two tosses of a die
where the success is defined as getting a

number less than 5.

° Watch Video Solution

64. Given that E and F are events such that
P(E) =0.6 P(F)=0.4 and P(E N F) = 0.2Then

P(E | F) (1/21/3 3/2 2/3)
P(F | E) e



https://dl.doubtnut.com/l/_QpkrusZ7Jjuu
https://dl.doubtnut.com/l/_wbIteWtdWebv
https://dl.doubtnut.com/l/_Kd0DiyTB24Oe

l o Watch Video Solution

65. A die thrown twice and the sum of the
numbers appearing is observed to be greater
than 9.What is the conditional probability that

the number 5 is appearing at least once.

o Watch Video Solution

66. A and B are two events such that P(A)=1/5

2
andP(AUB):§.Find p(B) if they are


https://dl.doubtnut.com/l/_Kd0DiyTB24Oe
https://dl.doubtnut.com/l/_xzJVPH4xlX3U
https://dl.doubtnut.com/l/_FjVu9Mxco42V

mutually exclusive a)1/5 b) 2/5 c) 3/5d) 7/15

o Watch Video Solution

67. A box contains 3 red and 4 blue balls. Two
balls are drawn one by one without

replacement. Find the probability of getting

both balls red.

° Watch Video Solution



https://dl.doubtnut.com/l/_FjVu9Mxco42V
https://dl.doubtnut.com/l/_HzBxbfQ0wcbO

68. Three cards are drawn successively without
replacement from a pack of 52 cards. What is
the probability that first two cards are queen

and the third is king.

° Watch Video Solution

69.Find P(A N B) If A and B are independent

ts with P(A)—l dP(B)—5 ) b)33 )
events wi —5an —8.a 13 40C
1d)5
8 8

° Watch Video Solution



https://dl.doubtnut.com/l/_ziFrvSAzc6Bg
https://dl.doubtnut.com/l/_ZVCzA4F05kPN

70. An unbiased die is thrown twice. Let the
event A be getting prime number in the first
throw and B be the event of getting an even
number in the second throw. Check the

independence of the events A and B

o Watch Video Solution

71. The probability of solving a problem

1 1
independently by A and B are 3 and 1


https://dl.doubtnut.com/l/_ZVCzA4F05kPN
https://dl.doubtnut.com/l/_9S8CUR84CXtt
https://dl.doubtnut.com/l/_FirrObPG2LRU

respectively. Find the probability that exactly

one of them solves the problem.

° Watch Video Solution

72. A set of events

are said to be a partition of the sample space,
then which of the following conditions is

always not true

° Watch Video Solution



https://dl.doubtnut.com/l/_FirrObPG2LRU
https://dl.doubtnut.com/l/_iHqoxTJ4sQIZ
https://dl.doubtnut.com/l/_nuw6x8GfUG5L

73. A person has undertaken a business. The
probabilities are 0.80 that there will be a crisis,
0.85 that the business will be completed on
time if there is no crisis and 0.35 that the
business will be completed on time if there is
a crisis. Determine the probability that the

business will be complete on time

O Watch Video Solution

74. A box contains 5 red and 10 black balls. A

ball is drawn at random, its colour is noted


https://dl.doubtnut.com/l/_nuw6x8GfUG5L
https://dl.doubtnut.com/l/_Kz0LWU32z53w

and is returned to the box. More over 2
additional balls of the colour drawn are put in
the box and then a ball is drawn.what is the

probability that the second ball is red.

° Watch Video Solution

75.Bag 1 contains 5 red and 6 black balls. Bag2
contains 7 red and 5 black balls. One ball is
drawn at random from one of the bags and it
is found to be red. Find the probability that it

was drawn from bag 1.

| |


https://dl.doubtnut.com/l/_Kz0LWU32z53w
https://dl.doubtnut.com/l/_A8vmC6yyw6eq

& Watch Video Solution I

76. A card from a pack of 52 cards is lost. From
the remaining cards of the pack, two cards are
drawn and are found to be both diamonds.
Find the probability of the lost card being

diamond.

° Watch Video Solution

77. If X denotes number of heads obtained in

tossing two coins. Then which of the following


https://dl.doubtnut.com/l/_A8vmC6yyw6eq
https://dl.doubtnut.com/l/_500M8ykf56tt
https://dl.doubtnut.com/l/_QwkQ38f8ZiP3

is false a) X(HH) = 2 b)X(HT) =1 ¢)X(TH) = O

d)X(TT) =0

A. (X(HH)=2

B. X(HT)=1

C. X(TH)=0

D. X(TT)=0

Answer:

0 Watch Video Solution



https://dl.doubtnut.com/l/_QwkQ38f8ZiP3

78. Find the probability distribution of number

of heads in two tosses of a coin.

° Watch Video Solution

79. A coin is tossed so that the head is 3 times
as likely to occur as tail. If the coin is tossed
twice, Find the probability distribution of

number of tails.

o Watch Video Solution



https://dl.doubtnut.com/l/_QzQEWqPZBzcc
https://dl.doubtnut.com/l/_DqhGJgnelfOL
https://dl.doubtnut.com/l/_36JKJPbIXmpG

80. Fill in the blank of a probability

distribution of a random variable X.
X 0 1 2
P(X) 0.2 . 04 - ...
A.0.2
B.0.3

C.04

D. 0.6

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_36JKJPbIXmpG

81. Find the mean number of heads in three

tosses of a fair coin.

o Watch Video Solution

82. The probability that a student is not a
sportsman is 1/5.Then the
probability that out of 6 students4 are

sportsman is.

o Watch Video Solution



https://dl.doubtnut.com/l/_36JKJPbIXmpG
https://dl.doubtnut.com/l/_LyZKDackMfIn
https://dl.doubtnut.com/l/_oV7MxDCwOKR7

83. Find the probability of throwing at most 2

sixes in 6 throws of a single die.

o Watch Video Solution

84. On a multiple choice examination with
three possible answers for each of the five
questions what is the probability that a
candidate would get four or more correct

answers just by guessing?

o Watch Video Solution



https://dl.doubtnut.com/l/_oV7MxDCwOKR7
https://dl.doubtnut.com/l/_XUDR0krem0KY
https://dl.doubtnut.com/l/_jOSfau4tVcCj

85. If P(A) = 0.8, P(B) = 0.5, P(B/A) = 0.4, Find

P(ANB)

° Watch Video Solution

86. If P(A) = 0.8, P(B) = 0.5, P(B/A) = 0.4, Find

P(A/B)

o Watch Video Solution



https://dl.doubtnut.com/l/_jOSfau4tVcCj
https://dl.doubtnut.com/l/_RMDCkiYfTQz4
https://dl.doubtnut.com/l/_suP1m3ef3U1N

87. If P(A) = 0.8, P(B) = 0.5, P(B|A) = 0.4, Find

P(AU B)

° Watch Video Solution

88. Two cards are drawn without replacement
from a well shuffied pack

of 52 cards .Find the probability that one is a
spade and other is

a queen of red colour.

° Watch Video Solution



https://dl.doubtnut.com/l/_iDr3b6Sjxgeb
https://dl.doubtnut.com/l/_0UtDchiyh5IS

89. Find the probability distribution of number

of heads in two tosses of a coin.

o Watch Video Solution

90. An experiments succeeds twice as often as
it fails.Find the probability
that in the next six trials,there will be atleast 4

successes.

° Watch Video Solution



https://dl.doubtnut.com/l/_0UtDchiyh5IS
https://dl.doubtnut.com/l/_YpT3RxnWMcVp
https://dl.doubtnut.com/l/_hPp4X4Dmlp1F

91. A die is thrown again and again until three
sixes are obtainined.find the probability of
obtaining the third six in the sixth throw of

the die.

o Watch Video Solution

92. An electronic assembly consists of two sub
systems,say A and B.From previous testing
procedures,the following probabilities are

assumed to be Known.P(A fails)=0.2 P(B fails


https://dl.doubtnut.com/l/_B4Friq93xBlM
https://dl.doubtnut.com/l/_kPjsTwtWdaSG

alone)=015 P(A and B fail)=0.15 Evaluate the

following probabilities (i)P(A fails |B has failed)

° Watch Video Solution

93. An electronic assembly consists of two sub
systems,say A and B.From previous testing
procedures,the following probabilities are
assumed to be Known.P(A fails)=0.2 P(B
failsalone)=015 P(A and B fail)=0.15 Evaluate

the following probabilities (ii)P (A fails alone)

° Watch Video Solution



https://dl.doubtnut.com/l/_kPjsTwtWdaSG
https://dl.doubtnut.com/l/_xB5HcxlR1Hi4

94. Given two independent events A and B
such that P(A) = 0.3, P(B) = 0.6. Find i) P(
A and B) ii) P(A and not B) Ill) P(A or B) iv)

P(neither A nor B)

o Watch Video Solution

95. Given two independent events A and B
such that P(A) = 0.3, P(B) = 0.6. Find i) P(
A and B) ii) P(A and not B) Ill) P(A or B) iv)

P(neither A nor B)


https://dl.doubtnut.com/l/_xB5HcxlR1Hi4
https://dl.doubtnut.com/l/_zzQDCLzwGIUn
https://dl.doubtnut.com/l/_za2XiZHhbhZZ

° Watch Video Solution

96. Given two independent events A and B
such that P(A) = 0.3, P(B) = 0.6. Find i) P(
A and B) ii) P(A and not B) Ill) P(A or B) iv)

P(neither A nor B)

o Watch Video Solution

97. Given two independent events A and B

such that P(A) = 0.3, P(B)=0.6". find P(neither


https://dl.doubtnut.com/l/_za2XiZHhbhZZ
https://dl.doubtnut.com/l/_POpbZzABvY3o
https://dl.doubtnut.com/l/_KRmdIOMwfujs

A nor B)

o Watch Video Solution

98. The probability distribution of a random
variable X is given in the following table:

Find k.

P(X) | 0.1 Kk 2k | 2k | k

o Watch Video Solution



https://dl.doubtnut.com/l/_KRmdIOMwfujs
https://dl.doubtnut.com/l/_rzrWjD4WS7w1
https://dl.doubtnut.com/l/_Z9htyW1hWn1t

99. The probability distribution of a random
variable X is

given in the following table:

Find the probability that X lies between 1 and

4.

° Watch Video Solution

100. The probability distribution of a random

variable X in given in the following table:


https://dl.doubtnut.com/l/_Z9htyW1hWn1t
https://dl.doubtnut.com/l/_GlG19vxFH8z2

Find the mean of X.

P(X) | 0.1 Kk 2k | 2k | k

o Watch Video Solution

101. The probability distribution of a random
variable X in given in the following table:

Find the mean of X.

P(X) | 0.1 Kk 2k | 2k | k



https://dl.doubtnut.com/l/_GlG19vxFH8z2
https://dl.doubtnut.com/l/_WGz0U7QBeSLg

o Watch Video Solution

102. A bag contains 4 red and 4 black balls,
another bag contains 2 red and 6 black balls.
One ball of the two bag is drawn at random
and the ball is drawn the bag is found to be
red. Find the probability that the ball is drawn

from first bag

o Watch Video Solution



https://dl.doubtnut.com/l/_WGz0U7QBeSLg
https://dl.doubtnut.com/l/_NDmHa6HKJNgZ

103. A random variable X has the following

distribution function:

Find k.

X
PX) | K | 3k | 5k | 7k | 4k

o
-
N
&
£ -

o Watch Video Solution

104. A random variable X has the following

distribution function:

X |0 1 2 3 4
P(x)| k 3k 5k 7k 4k



https://dl.doubtnut.com/l/_WOZvWKeNxPw4
https://dl.doubtnut.com/l/_8RnFoEIjXus8

Find the mean and the variance of the random

variable x.

° Watch Video Solution

105. The probability distribution of a random

variable is given by p(x) . What is Z P(z)?

o Watch Video Solution

106. The following is a probability distribution

function of a random variable


https://dl.doubtnut.com/l/_8RnFoEIjXus8
https://dl.doubtnut.com/l/_tgtGInD2PAOR
https://dl.doubtnut.com/l/_PjhWBu0roIzi

Find K
X 5 4 -3 -2 -1 0
Px) |k |2k | 3k | 4k | 5k |7k
x 1 | 2 3 4 5
Pix) |8k |9 |10k |11k | 12k

o Watch Video Solution

107. The following is a probability distribution

function of a random variable.

x |[-5-4 -3 -2-106 123 4 5
p(x) k 2k 3k 4k 5k 7k 8k 9k 10k 11k 12K
P(x>3)

(ii)

Find

| &


https://dl.doubtnut.com/l/_PjhWBu0roIzi
https://dl.doubtnut.com/l/_VHLKu2Sncxm9

| ¥ Watch Video Solution |

108. The following is a probability distribution

function of a random variable.

x |4 -3-2-186123 4 3

p(x) k 2k 3k 4k Sk 7k 8k9k 10k 11k 12k
i (iii)Find

P(-3<z<4)

o Watch Video Solution

109. The following is a probability distribution

function of a random variable.


https://dl.doubtnut.com/l/_VHLKu2Sncxm9
https://dl.doubtnut.com/l/_kNa4I2Kl00NP
https://dl.doubtnut.com/l/_qPios73jSLAy

x |54 -3-2-186123 4 3

p(x) k 2k 3k 4k 5k 7k 8k9k 10k 11k 12K

Find P(z < 3)

o Watch Video Solution

110. If A and B are two events suchthat A C B

and P(A) # 0then P(A/B) is



https://dl.doubtnut.com/l/_qPios73jSLAy
https://dl.doubtnut.com/l/_gX98CZBp9iFt

P(B)

Answer:

° Watch Video Solution

11. There are two identical bags. Bag |
contains 3 red and 4 black balls while bag ||
contains 5 red and 4 black balls. One ball is
drawn at random from one of the bags.

Find the probability that all the ball drawn are

red

| e |


https://dl.doubtnut.com/l/_gX98CZBp9iFt
https://dl.doubtnut.com/l/_qskeUt3awlti

& Wwatch Video Solution I

12. There are two identical bags. Bag |
contains 3 red and 4 black balls while bag Il
contains 5 red and 4 black balls. One ball is
drawn at random from one of the bags.

If the balls drawn is red what is the probability

that it was drawn from bag 1?7

° Watch Video Solution



https://dl.doubtnut.com/l/_qskeUt3awlti
https://dl.doubtnut.com/l/_foAvrcHTmoNS

113. Consider the following probability

distribution of a random variable X Find the

value of K
X 0 1 2 3 4
P(X) 1 2 | K 5 1
16 | 16 16 16

O Watch Video Solution

14. Consider the following probability

distribution of a random variable X.


https://dl.doubtnut.com/l/_kjxEj1hBNOpW
https://dl.doubtnut.com/l/_X4LJURZMkRgd

Determine the Mean and Variance of X.

o Watch Video Solution

115. If P(A) = 0.3, P(B) = 0.4, then the value of
P(A U B) where A and B are independent
events a)0.48 b)0.51 ¢)0.52 d)0.58

A. 048

B. 0.51


https://dl.doubtnut.com/l/_X4LJURZMkRgd
https://dl.doubtnut.com/l/_HHrBahB5URYb

C.0.52

D. 0.58

Answer:

o Watch Video Solution

116. A card from a pack of 52 cards is lost. From
the remaining cards of the pack, two cards are
drawn and are found to be both diamonds.
Find the probability of the lost card being

diamond.



https://dl.doubtnut.com/l/_HHrBahB5URYb
https://dl.doubtnut.com/l/_h23KbAexsRv5

\ ° Watch Video Solution

117. A pair of dice is thrown 4 times. If getting
a doublet is considered as a success.Find the

probability of getting a doublet.

° Watch Video Solution

118. A pair of dice is thrown 4 times. If getting
a doublet is considered as a success,find the

probability of two successes

| N I


https://dl.doubtnut.com/l/_h23KbAexsRv5
https://dl.doubtnut.com/l/_8QW4d4MFU7Wy
https://dl.doubtnut.com/l/_QzqJYkuZo5a4

| ¥ Watch Video Solution |

119.

X |1 712 [3 |4
PO | 12 | U4 |18 |16 | p

The
probability distribution of a random variable X

taking values 1,2,3,4,5 is given a.Find the value

of P

o Watch Video Solution



https://dl.doubtnut.com/l/_QzqJYkuZo5a4
https://dl.doubtnut.com/l/_2V5J9CyTSBm5

120.

X |1 |2 [3]4
PO | 12 |14 f18|ui6 ] p

The

probability distribution of a random variable X
taking values 1,2,3,4,5 is given b.Find the mean

of X

o Watch Video Solution



https://dl.doubtnut.com/l/_Q73zAnwkTU9y

121.

X |1 |2 [3]4
PO | 12 |14 f18|ui6 ] p

The

probability distribution of a random variable X
taking values 1,234,5 is given cFind the

variance of X

o Watch Video Solution



https://dl.doubtnut.com/l/_XoZmlsx8rB7p

1. There are 5% defective items in a large bulk
of items. What is the probability that a sample
of 10 items will include not more than one

defective item ?

o Watch Video Solution

2. Two dice are thrown and it is known that the
numbers which turns up are different.Find the
probability that the sum of the two numbers

is 6.

| & I


https://dl.doubtnut.com/l/_NlEeX0LoMxlv
https://dl.doubtnut.com/l/_KJ0QmXGCXBFm

| ¥ Watch Video Solution |

3. A and B try to solve a problem
independently. The probability that A solves
the problem is1/2 and that of B solves the
problem is1/3. Find the probabilty that Both of

them solved the problem.

o Watch Video Solution

4. A and B try to solve a problem

independently. The probability that A solves


https://dl.doubtnut.com/l/_KJ0QmXGCXBFm
https://dl.doubtnut.com/l/_6F1pf0FgB4Ij
https://dl.doubtnut.com/l/_WtkgLvnL94Hk

the problem is1/2 and that of B solves the
problem is1/3. Find the probabilty that the

problem is solved.

o Watch Video Solution

5. If P(A)=08,P(B)=0.5 and

P(B| A) = 0.4Find ()P(A N B)

° Watch Video Solution



https://dl.doubtnut.com/l/_WtkgLvnL94Hk
https://dl.doubtnut.com/l/_n8OeVLOsrclm

6. A and B are two events such that P(A)=0.8,

P(B)=0.5 and P(B|A)=0.4, then find P(A|B)

o Watch Video Solution

7. If P(A) = 0.8, P(B) = 0.5, P(B|A) = 0.4, Find

P(AUB)

o Watch Video Solution



https://dl.doubtnut.com/l/_w9MwZrR11hQQ
https://dl.doubtnut.com/l/_MbkTFfHpX8lw

8. Bag | cotains 3 red and 4 black balls while
Bag Il contains 5 red and 6 black balls.One ball
is drawn at random from one of the bags and
it is found to be red.Find the probability that

it was drawn from Bag |

o Watch Video Solution



https://dl.doubtnut.com/l/_yyTJhvvHfTf6

